
The applicants family has expanded with the addition of 2 children and the house is too small for the enlarged family.
The proposal is for a childrens room, toilet and improved utility room on the ground floor, with an additional bedroom
with en-suite bathroom on the first floor. the materials will be natural stone and slate to match the existing house.
The ridge will be same hieght and the front wall set back 350 from the existing so the extension is subserviant to 
existing house.      

Additional living room, ground floor toilet, additional bedroom.

The extension is 3.6 m internally and required for the new children. The ground floor toilet is required by buidling regulations.
    



The extension on the gable is the logical location for the extension. the existing smaller extension on the gable will be demolished.
the extension is subserviant to the existing house which shields the extension from the public highway.     

Yes, same hieght as existing house, windows and material in keeping with location and windows detail matching existing.

The existing boundary,s are retained. 

Natural materials, lintels as existing house, same ridge level, set back 350 to ensure reads as an extension.  

The access remains as existing, ground floor toilet complies with disabled requirements.




